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Answer ALL the questions
Knowledge Levels K1 — Remembering K3 — Applying KS - Evaluating
(KL) K2 —Understanding | K4 — Analyzing K6 - Creating
PART - A
(10 x 2 = 20 Marks)
Q.No. Questions Marks KL CO
1. S8 508 2 Kl CO1
Findlim——<__.
x—>a X L 1l T
2. Find the critical values of the function 2 K1 CoO1
f(x)=2x" —3x> —36x.
3 If Ou Ou Ou
. u=(x-y)Ny-z)(z—x), then show that —+—+-—=0. 2 K2 CO2
ox Oy 0Oz
4. Define stationary value. 5 K2 CO2
/2
3 Evaluate [sin’ydy. 2 Kl CO3
0
6. Integrate | ——— k. 2 K2 CO3
. I(x+1)(x+2) ¥
12
78 Evaluate '”xyzdydx : 2 K2 CO4
00
abec
8. Evaluate [[[e™*dzdydx. 2 K2 CO4
000
9. Solve(D*-9)y=0. 2 Kl CO5
10' . 2 2 i . .
Reduce the equation (x"D° +xD+1)y=logx into an ordinary 5 K2 COS

differential equation with constant coefficients.



Q.No.
11. a)

PART -B

(5 x 16 = 80 Marks)

Questions

Find the absolute and local maximum & minimum values of
flx)=3x*—16x3+18x%, -1 <x < 4.

(OR)

b) The equation of motion of a particle is S =¢° —3t where S is in
meters and t is in seconds. Find

12. a)

b)

13. a)

b)

14. a)

b)

15. a)

b)

i
ii.
iil.

ii.

—
—

the velocity and acceleration as functions of't,
the acceleration after 2S, and
the acceleration when the velocity is 0.

If u=cos™ , then prove thatx% + y@ =—lcotu
By ey i

it Ve &
N
Expand e* cos y about (0,%j up to the third term using
Taylor’s series.

(OR)
Examine f(x,y)=x’+)’—-12x-3y+20 for its exireme
values.

If u= Eav = ﬁ,W = ﬂ, show that -—a(u’ Vs “}) =4
* y z a(x,y.2)
EvaluateJ. 2x+3 e
2x+1)(1-3x)

Evaluate J.e" cosxdx .
(OR)

w2 /2

Evaluate J. cos”xdx . Also find jcos7xdx .
0

il

i.

ii.

0
I V14x? diilo
Evaluatej j .l
0 0
Change the order of integration and hence evaluate
] e 2

2 2
ny +y

1 4+x>+

(OR)
Find the area of the circle x* + y* = a®.

Find the volume of the sphere x* + y* +z° = a*.

Solve (D* +1)y =tanx by method of variation of parameters.

i.

ii.

(OR)
Solve : (x*D* —xD+1)y = logx
Solve [(2x+3) 7 —2(2x+3)D~12)] y=6x.
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